
u(jf ufpFkflnsf u(jf bfË klG`s/)f tyf ;fdflhs ;'/Iff pkzfvf  
 

aflif{s sfo{of]hgf   
 

l;=g= sfo{qmdsf] gfd  sfo{ ;Dkfbg ul/g] dlxgf  jh]^ tyf vr{   s}lkmot  
1= ;fdflhs ;'/Iffsf ;]jfu|fxLx?sf] gljs/)f ;Ktfx cleofg ;+rfng ;fpg ebf} 100000.–  

2=  ;]jfu|fxL gfdfjln Plsg / EFT k|)ffnLjf^ eQf e'StfgLsf nflu j*fut 
ljj/)f ;'l$s/)fdf lkmN* ;xfos $f/f ljj/)f ;Dkfbg ug{]  

ebf} dlxgfdf cGTodf  –  

3=  MIS k|)ffnL / j}ssf] vftf g+= jf^ ljj/)f Plsg u/L EFT k|)ffnLjf^ 
eQf e'StfgL ug{] d$ft ug{] n]vf zfvfdf  

c;f]h dlxgf  –  

4=  cf=j= 2080.81sf] klxnf] q}dfl;s e'StfgL  c;f]hdf  cg'dflgt 3 s/f]* 50 nfv  klxnf] q}dfl;s 

5=  u'gf;f] ;'g'jfO{ tyf gful/s ;xeflutf clej[l$ ;DaGwL cGt{lqmof sflt{s dlxgf  –  

6= cgnfO{g x'g'eGbf klxn]sf AolQmut #^gfsf] ;'rgf kmf/dx?sf] lstfa agfpg]   d+l;/ dlxgf  200000  

7= bf];|f] q}dfl;s ls:tf e'StfgL kf}if   cg'dflgt 3 s/f]* 50 nfv  bf];|f] q}dfl;s 

8= ;f=;' ;]jfu|fxLsf] kl/rokq ljt/)f tyf JolQmut #^gf sfo{sf] j*fut cg'udg    df# –  

9= hgk|ltlglw tyf ;/f]sf/jfnfx?nfO{ klG`s/)f tyf ;fdflhs ;'/Iff 
;DaGwL cled"lvs/)f 

df# –  

10= /]l*of] sfo{qmd -;'rgf ;Grf/_tyf j}s / j*f sfof{nosf cWIfo , ;lrj 
cGt/lqmof ug{]  

kmfu'g  –  

11= t];f] q}dfl;s ls:tf e'StfgL r}q   cg'dflgt 3 s/f]* 50 nfv  t];f] q}dfl;s 

12= JolQmut #^gf btf{ ;Ktfx cleofg ;+Grfng  a}zfv 1 b]lv 7 ut] –  

13= ;fdflhs ;]jfu|fxL Plsg tyf ck'u /sd ljefujf^ dfu ul/g]  h]& –  

14= rf}yf] q}dfl;s ls:tf e'StfgL c;f/   cg'dflgt 3 s/f]* 50 nfv  rf}yf] q}dfl;s 

             ========================     

              tof/ ug{]   

               -Clif /fd ofbj_       

                    klG`s/)f pkzfvf  


